(3U-2
Knanan | 1
Knanav | 2
= +40B |3
5 +L40B |k
< [ Osuw |5
+ 5B 6
famy. knanf 7
8
1
Odwuu | 2
NuHua B | 3
NuHug A | &
+12B 5
5 6
= 1
Odwua | 2
NuHua B | 3
NuHug A | &
+12B 5
6
2 ~2208B, 50rup 1
3 ~2208B, 50ruy 2

B3am. uHb. N° [MHB. N° dydn. |llodn. u dama

NuB. N° nodn. |Modn. u dama

C3L-1
Knanad || 1
KnanaH || 2

P +40B |3
= +L0B |k
< [ Odwud | 5
+ 5B 6
flamy. knan| 7
8
1
Odwua 2
NuHua B | 3
NuHus A | &
+12B 5
5 6
3 1
Odwuu | 2
NMutug B | 3
NuHus A | &
+12B 5
6
~220B, 50y
~220B, 50y,

—

N

Pene
1 v
2 —F 2
3 _
L -
5 =
3 IR
g
8 C|
o e
10 g
?b AHmeHHa
AHmenHa | 1
11 GND2 o0 >
12| Bxod 1
13| Bxod 2 10
6 | Bxod 3 GND2_§ 38
51 Bxod & Bxod 24 |37
16 Bxod 5 Bxod 23 |36
UTP-1 7] Bxod 6 Bxod 22 | 35
18 GND2? Bxod 21 |34
NuhUs Bxod 20 |33
1 Bxod 19 |32
] 31 /luHus B Bxod 17 |30
20| Aurus A Exog 12 ;:
5 +128 X0
BIK- UTP_2 - Bxad 1 |27
Knanan 1 ] 1 ] Bxod 13 |26
Knonan | 2 F 2| GN\D Brod 12 125
~L0B_[3F 25 [ Tuwua B Bxod 1) 2
L0B_| & I 2 | s A Bxo 10 }23
b 5 +12B Bxod 9 22
KnanaH K33 KCTB 8*05 6 Bxod 8 | 21
K nanar Bxod 7 |20
KnanaH | 1 11 KnanaH GNDZ_ 10
KnanaH | 2 2 | KnangH RS-232
+40B |3 3] -+ 40B X 2
+40B |4 L] -+ LOB RX |3
Odwwd [ 5 s | Odwud GND 5
+ 5B 6 6] +5B Cemb
flamy. knanf 7 7 |amu. knan ~220B, 50Tuf 1 j]::
8 8 ~2208, 50ru] 2
Cucmema koHmpons 30za3obaqHocmu (K3 «Kpucmann - 3»
3nekmp. (C ducnemyepu3auuet u knanadom K33r)
/lum.  |Macca |[Macwmad
Vam/lucmN° dokym  |Mocn.  |flama
Pa3pad, 000 «KP «3HepzocucmeMsbly
[lpab 2.Capamofy
T. KoHmp. P fuem 1 [/ucmob 1
H. KoHmp.
Ymb.




	Страница 1

